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QUESTION 1

Which statement about BEFORE triggers is FALSE?

A. A BEFORE trigger can be used to perform validation of input data.

B. A BEFORE trigger can be used to automatically generate values for newly inserted rows.

C. A BEFORE trigger is fired for each row in the set of affected rows before the trigger event executes.

D. A BEFORE trigger is fired for each row in the set of affected rows instead of executing the trigger event.

Correct Answer: D

QUESTION 2

An SQL function designed to convert temperatures from Fahrenheit to Celsius was created as follows: How can this
function be used to convert average temperature (AVG_TEMP) data stored in a table called CLIMATE_INFO?

CREATE FUMCTION cony_temp (IM termp_fFLOAT)
RETURNS INTEGER
MO EXTERMAL ACTION
SPECIFIC convert_ftoc
RETURM INT((temp_T- 32)/1.8)

A. CALL conv_temp(climate_info.avg_temp);

B. CALL convert_ftoc(climate_info.avg_temp);

C. SELECT conv_temp(avg_temp) FROM climate_info;
D. SELECT convert_ftoc(avg_temp) FROM climate_info;

Correct Answer: C

QUESTION 3

When a user-defined function (UDF) is created and no schema is specified, what schema is used to store the UDF?
A. The SYSIBM schema.

B. The SYSFUN schema.

C. A schema with the name of the UDF.

D. A schema with the userid of the UDF definer.

Correct Answer: D
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QUESTION 4

Which action needs to be performed in order to complete the definition of an application-period temporal table?
A. A transaction-start-id column must be defined for the table.

B. A history table must be defined and associated with the base table.

C. ABUSINESS_TIME period must be specified in a CREATE or ALTER of the table.

D. A unique index must be created that prevents overlapping of the BUSINESS_TIME period of the table.

Correct Answer: C

QUESTION 5

Which statement regarding referential integrity constraints is true?
A. Multiple primary keys can be defined for a table.

B. A foreign key can reference multiple primary keys.

C. A primary key can be referenced by only one foreign key.

D. Primary keys and foreign keys are used to define relationships.

Correct Answer: D
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